hohner

Esquema de ligacao. Conector de 5 pinos MIC5 -Macho.

XXXX-03CX-XXXX

XXXX-09CX-XXXX

XXXX-05CX-XXXX

Pino 1=-0 Volts
Pino 2 =+ 5 a 28 Volts
Pino 3 =Canal A
Pino 4 = Canal B
Pino5=Canal O

Pino 1=-0 Volts

Pino 2 =+ 5 a 28 Volts
Pino 3 = Canal A

Pino 4 = Canal B

Pino 5 = Canal O/

Pino 1=-0 Volts

Pino 2 =+ 5 a 28 Volts
Pino 3 = Canal A

Pino 4 = Canal A/
Pino5=N/C

XXXX-02CX-XXXX

XXXX-08CX-XXXX

XXXX-01CX-XXXX

Pino1=-0 Volts

Pino 2 =+5a 28 Volts
Pino 3 = Canal A

Pino 4 = Canal B
Pino5=N/C

Pino1=-0 Volts

Pino 2 =+5a 28 Volts
Pino 3 = Canal A
Pino4=N/C

Pino 5 = Canal O

Pino1=-0 Volts

Pino 2=+ 5 a 28 Volts
Pino 3 = Canal A
Pino4=N/C
Pino5=N/C

XXXX-07CX-XXXX

XXXX-XXB3-XXXX
(série BR21)

Pino 1=-0 Volts
Pino2=+5a 28 Volts
Pino 3 =Canal A
Pino4=N/C

Pino 5 = Canal O/

Pino 1=-0 Volts
Pino2=+5a 28 Volts
Pino 3 = Canal A
Pino 4 = Canal B
Pino 5 = Canal O




XXXX-41CX-XXXX

XXXX-0032-XXXX

XXXX-4052-XXX

(Absoluto) (Absoluto) (Absoluto)
Pinol=-0V Pinol=-0V Pinol=-0V
Pino 2 = + Vdc Pino 2 = + Vdc Pino 2 = + Vdc

Pino3=4a20mA
Pino 4 = CW/CCW
Pino 5=GND

Pino3=4a20mA
Pino 4 = CW/CCW
Pino 5=GND

Pino3=4a20mA
Pino 4 = CW/CCW
Pino 5=GND

XXXX-4152-XXXX

XXXX-40CX-XXX

XXXX-00C2-XXX

(Absoluto) (Absoluto) (Absoluto)
Pinol=-0V Pinol=-0V Pinol=-0V
Pino 2 =+ Vdc Pino 2 =+ Vdc Pino 2 =+ Vdc

Pino3=4a20mA
Pino 4 = CW/CCW
Pino 5=GND

Pino3=40a20mA
Pino 4 = CW/CCW
Pino 5=GND

Pino3=0a20mA
Pino 4 = CW/CCW
Pino 5=GND

XXXX-01C2-XXXX

XXXX-0052-XXXX

XXXX-00C1-XXXX

(Absoluto) (Absoluto) (Absoluto)
Pinol=-0V Pinol=-0V Pinol=-0V
Pino 2 = + Vdc Pino 2 = + Vdc Pino 2 = + Vdc

Pino3=0a20mA
Pino 4 = CW/CCW
Pino 5 =GND

Pino3=0a20mA
Pino 4 = CW/CCW
Pino 5 =GND

Pino3=0a20mA
Pino 4 = CW/CCW
Pino 5 =GND




